BT AR (M8 : #%) O : 514@

SHFE HFENTAF @I [fzZAZER] 1 /7
224+ 5xy—3y*+ x+17y—10 2 A DERE X,

(x+D(y+ Dixy+1)+ 2y & EED L &,

V2+./3 +4/2—/3 IR L,

3RATER 20+ ax’+ b+ da=0 (3 a, b 12540 Hisae oY7L pe oy s,

@EH@H

H
=]

—_
—_

EHigs
(] DN

2
a, b DIE L EBIRZRD &.

ZR 22 -1=x-2°2+a(x—224bx—2)+c B2 IZOVTHDEZERL 5L X, X a,
b, ¢c DEZRD &,

SHAEBER P +2a—1)r2—3a—2)x+a—6=0D 3 DDED>H, HrHL2ONEL
WX, EaDIEEZED L,

ZER P(x) % x—1 CTEIBL 8RY, 2’—4CEZL —2x+1R5L%, Px) &
(x—1)(x2—4) TEl> =L XDHRY KD &,

(1) 2 —4x° — 822+ 24x—45=01F, x=1++/2i ZIRITE D, TDMDIEE TRTKRD X
Q) V)DFEREFNT, x'—4ix® +8x2—24ix—45=0 DfR% T NTRD L.

{(9+45)"+(9—45)"12—{(9+45)"—(9—4/5)"}? BfEIZR L, ZEL, n i3
Br¥5,

—1ly=-1 7 .
tla=Ly % D& SRPEEET, a= DL x
ax+(a+3)y=1

FRDERIZTFTET B,

kvt

a l3EHELTB, 32D x, vy, zIFERKRRA
xyz2=2xy+yz+2x), x+y+z=a
RN
1) x y z2DI3HDRELELIDN2THDLTD, ZDLX, a DfEEZRD L,
2 )DEET, 2°+y°+2° DIEERD &,

)
FX)=242x+c 12DV T, s DAER f(2)=0DBERD 2ODEHMEE2E D,
f(f(x)=0NEffazEt DL X, a, c DIEZRD L,

a=1+./3i, B=1-/3iDL X

B2—48+8 >3 ‘
DfE%x KD &,
<a"*z—a"+1+2a"+4a"‘1+a3—2a2+5a—2 a

U, nid2 I EDBRE,  IFERBEMLLTD,

(i) 8. 10, 1 LiZ2MKVT, FAIZ6 /R, #HI4HI9, 131k8R




BT AR (M8 : #%) O : 514@
HiFE BFINTIE @I [AREAzER) 2 /7

(22— y+5)x+3y—2)

(xy+x+1)(xy+y+1)

Y3

a=10,6=33, x= -5

a=6, b=12, c=7

(6] a=-7, =3, 2

BE —3x°—2x+13

& JEIC x=1-+2i, 5, —3; x=%+2 +i, 5i, —3i

[9] &8 4

g (V) 3 (1) —1

a=2, x3+y°4+2°=8

a= —1, c=_1if\/—5

-5

2x°4+5xy—3y*+ x+17y—10 =224+ (5y+1)x— (3y*—17y+10)
=2x"+(5y+1)x—(3y—2)(y—5)

={2x—(y—=5)}{x+(3By—2)}
=(2x—y+5)(x+3y—2)

2 —(y—=95) — —y+5
1>< 2 — 6y—14

3y—
2 S5y+1
(x+D(y+1D(xy+1)+xy ><x—|—1 —  (x+1)
=(x+D{xy*+(x+1)y+1}+xy x+1 x
=22+ 1)y +{(x+1 + 2y + x+1 (x+1)"+x

{xey+(x+DH(x+1)-y+1}

=(xy+x+1)(xy+y+1)

pifg) (x+1(y+1Dxy+1)+xy=(xy+2+y+1xy+1)+xy
xy+ 1)+ x+yi(xy+1)+xy
xy+1° 4+ (x+ p)xy+1)+xy
={(xy+ 1)+ 2}(xy+1)+ y}
(xy+x+1)xy+y+1)

Ve 3 4423 =«/4+§‘/§ +«/4_§\/§

(
{(
(
{




BT AR (M8 : #%) O : 514@

BiE%E BENFRE @ (Ems] 3 /7
_A8+1 MB3-1_2/3
=~ Tw cw

flo)=x3+ax’+bx+4a BL.
x=_5+T\/7l DX 2x+5=47i

M%EEFLT 4x242004+25=—7m5 x°4+5x+8=0
f(x) 1 224+ 52+ 8 TEIV I E 05, ROEERMEKY L.
23+ ax’+bx+4a=(x24+5x+8)(x+¢)
£oT x*+ax’+bx+4a=x°+(c+5)x%+(5c+8)x+8¢
W2z, MEDREE AT
A=C+5 e D, b=5c+8 - @, 4a=8c - ®
Dz2QIZRATSEE, 4c+5=8ch"h5> c¢=5
Zhzt O, QIZRALT a=10,6=33
7, EBRIE x=—c=-5
3 —1=(x—2°+a(x—2°+b(x—2)+c - OMxIZODVWTHDEZERTHZENG, ¥
DEH% 2 ITOOTERY LD,
Dizx=2%2RAT5L T=c
DQlzx=32RAT5L 26=14+a+b+c
DQlzx=12RATBL 0=—-14+a—-b+c
INERNT a=6, b=12, ¢c=7
ZnrE, ODATIE (x—2°4+6(x—2°2+12x—2)+7T=2>—1 &RV, EBIZ—KL,
EERL L5,
UEMoT a=6, b=12, ¢=7
EE 1l AUEZEBEUTCEETLL
2¥—1=x+(a—6)x’+(—4a+b+12)x+4a—2b+c—8
£>T a—6=0, —4a+b+12=0, da—2b+c—8=-1
IhEfE<E a=6, b=12, ¢=7
BIER2 x—2=t B x=1+2
ZRIRATEE (t+2°—1=t3+at’+bt+c
Thbhb 34612412+ 7=t 4 at’+bt+c
Ihidt DEER L RS,
LD % HELT a=6, b=12, c=7
(6] f(x)=x+(2a—1)x*~3a—2)x+a—6 L THL



BT AR (M8 : #%) O : 514@

BHFE BFNTI+ @I [A2EAzER) 4 /7
f1)=1°+(2a—1)-1°-3(a—2)-1+a—6 _
=1+2a—1-3a+6+a—6=0 1 2¢a—1 —3(a—2) a—6 |1
EoT, fo)lda—1 2EEIZEONS 1 2a —a+6
flx)=(x—1)(x*+2ax—a+6) 1 2a —a+6 0

Wwzlz, FRERIE (x—1)«x%4+2ax—a+6)=0
UeiosT x—1=0 F/kiZ x*+2ax—a+6=0
ZD3IRABRDIODEDH B, b rHE2ONFELVERMEE, KD (1] 213 (2) HIEK
DIYDZ & THhb,
1] x%42ax—a+6=07131 THRVEREZE D,
HRIRE D ETBHL
D=0 7D 1°42a-1—a+6=a+7x0

%:a2_(_a+6)=a2+a—6=(a+3)(d—2)

D=0%¢7935Lk a=-3, 2
it a+7x0 2=,
2] x%4+2ax—a+6=0D 1 DDEMN1, MOEMN1 TR,
x=12ETHE0M5 1*+2a-1—a+6=0
£-T a+7=0 Wz a=—"17
NP x?—14x+13=0 £-oT (x—1)x—13)=0
IhERNT  x=1, 13
UZzo T, MOEN 1 TRONSHET S,
1], 2176, KDDEH a DEIEZ  a=-7, =3, 2
(x—1)(x2—4) IE3RXRTH D95, P(x) & (x—1)(x*—4) TE-ZLEDRYVI,
2RUTFDLIEAITR D,
£oT, RDEIKRY % ax’+bx+c & LT
Px)=(x—1)(x2—4) Q(x) +ax®*+bx+c

LBIT5,

s P(1)=8

¥/, Plx) 2 x’—4 CElo=2F%E Alx) 35, RUMN —2x+1 THEH16
P(x)=(x*—4) A(x) —2x+1

)
)
£->T P2)=-2-2+1=-3,
P(—2)=—-2-(—-2)+1=5
UzmM>T Pl)=a+b+c=38
P2)=4a+2b+c=-3
P(—2)=4a—2b+c=5



BT AR (M8 : #%) O : 514@
HiFE BFINTIE @I [AREAzER) 5 /7

ZhERNT
a=-3, b=—-2, ¢=13
£-oT, kDBERYIE
—3x%2—2x+13
REBEBTHEMS, x=1-2i 6BTH5.
UEMoT, EROEDIF{(x—1+/20)x—(1-V2i)}=x2-2x+3 TEVENB.
WZIZ x'—4x3—8x%4+24x—45=(x>—2x+3)(x*—2x—15)
FoT (x2=2x4+3)(x—=5)x+3)=0 WxIZ, MOMEE x=1-24, 5 —3
F7,
X' —4ix® 4+ 8x2—24ix—45=0 |F (—ix)'—4(—ix)—8(—ix)>+24(—ix)—45=0
LEWTXBMNS —ix=1++24, 5, —3 DT x=++2 +i, 5i, —3i

(9] a=(9+45)", b=(9—-4/5)" LT3 &
(5R)=(a+b)?—(a—b)? =4ab

=4(9444/5)"(9—4J5)"=4{(94+4/5)9—4/5)}" =4(81 —80)"=4-1"=4
1+(a—1)y=—1--- @®
10 £5<,
ax+(a+3)y=1 - @ <
Oxa—@ "5 (a?—2a—3)y=—a—1
bbb (a+1 a—3)y=—(a
1] ax3 »D ax—-1Dr%

- 1
©OFA y——a—_g

a—3

WZIZ, fiR(x, » N1DIZEE S,
2] a=3DrXx Q@ %2WM/AT yIFBEELR,
WZIZ, BRIZFEEL R,
3] a=—-10D¢Xx Q@ ZH/~T yIIBBUIEET S,
Zoex, O, @QResizx—2y=—1%,725%,
WZIZ, EYARRORIE x—2y=—1 2527 (r, y) &Y, BHIHFEET D,
(1]~ [3] 756, a="3 DL EEMNEELT, a=T-1 DL IBNERIEET S,
1) (x=2)y—2)z2—2)=xyz—2(xy+ yz+2zx)+4x+y+2)—8
xyz=2xy+yz+2x), x+y+z2=a THENS (x—=2)y—2)(z2—2)=4a—8
Xy 2DOHADRLE1IDON2THDLX (x—2)y—2)z2—2)=0
£-7T, 4a—8=0 IhzfEk a=2
2) F7=, x+y+z2=a=2TH>d»5



BT AR (M8 : #%) O : 514@
HiFE BFINTIE @I [AREAzER) 6 /7

By 42 =(x+y+z2) xi+y2 22— xy— yz—2x)+ 3xyz
=22+ y*+ 2 —xy—yz—2x)+3-2xy+ yz + 2x)
2Ax2+ y2 4+ 224 2xy+2yz+22x)
2(x+ y+2)*
8
flo)=0T2bb 22422 +c=0 DERZ 2ODEHMEE B, rT5 L, RLIFHDE
fRizky) B+r=-2, Br=c
£2T, f(f(x)=0216
(F0)P+2f(x)+¢c=0
)P =B+nflx)+Br=0
{f(x) =B f(x) —7}=0
(224 2x4+c—B)(x*+2x+c—7)=0
f(f(0)=0NER a 2EOND5,
X2 2%+ c—B=0 -oeen D, x242x+c—7=0 -oee ®
E5BE, RDOWTNMNNEY LD,
1] ©, @MeEIfRa®rtD
2] OPEardHD
[3] QMNERazED
1DeE, B=r=a’+2a+c L2V, Bxy &l IO 5RHE,
2o %, O (x+1)7*=0
JZO’C a=-1, c—B=1
B=c—1% x>+ 2x+c=012RAT B L (c—17242c—1)+¢c=0

£-oT ci4c—1=0 U=MoT c=_lL2\/g

BoLE, 2OLELABIILT  a=-1, c:_—lgﬁ
BERS  a= —1, c=—1+ﬁ

a=1+ﬁi, B=1—-/3inrx a+B=2, aB=4
£oT, a BIFHIZDWTD2RAERER t2-2t+4=0 D2 DODETH 5,
fH)y=t*=2t+4 & T5¢&
fla)=a?—2a+4=0, f(B)=p2—28+4=0 - @
AN OPY)
a" i _a" M 2a" +4a" T =a" Hat—al 4 2a+4) =a" Ha+ 1) a?—2a+4)
=a" Ya+1)f(a) =0,



BT AR (M8 : #%) O : 514@
HiFE BFINTIE @I [AREAzER) 7T /7

a’—2a’+5a—2=ala’—2a+4)+a—2=afla)+a—2=a—2=—4,
BP—4B+8=(8"—28+4)—28+4=/(B)—2B—2)=—-28—2)=2a

B*—4B+8 >3:< 2a >3: 8a®
a’r—a" 4 20" +4a" '+ a® —2a%+5a—2 —pB

‘33
ZIT, (t4+2)f(t) =(t+2)(t2=2t+4) =148, fla)=0, f(B)=0 XV
a*+8=(a+2)f(a) =0, B*+8=(8+2)f(8) =0
WwZIZ a’l=-8, p3=-8

LidinT <

B—4p+8 >3:__&(—&
—a" ' 4 2a" +4a" '+ a®—2a% +5a—2 -8

L7etisT <aH2 ~ s



